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internal class Program {

static void Main(string[] args) {
float p = 5.5f;
int r = calc_square(p);
Console.WriteLine(String.Format("Result:{0}", r));
}

static int calc_square (float param) {
int result = (int)(param * param);
return result;

}
e

static void Main(string[] args) {
float rate = 2.5f;
float amount = 10f;
computing(rate, ref amount);
Console.WriteLine(
String.Format("Rate: {0}, Amount: {1}", rate, amount));

}

static void computing(float rate, ref float amt) {
rate *= 10;
amt *= rate;
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1 | leticonList = [];
2
3 | for (const extld of fs.Is("/extension™)) {
4 let extension = fs.read('/extension/${extld}/extension.js’);
5 ext = eval(extension);
6 iconList.push(fs.read(’/extension/${extld}/${ext.icon}));
71}
8
9 | for (const [index, element] of Object.entries($("span .treelcon™))) {
10 if (typeof element === "object") {
11 $(element).append(’<img src="${iconList[index]}" >);
12 }
13|}
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1 | <button onclick="dialog()">Confirm</button>
2 | <pid="result"></p>
3 | <script>
4 window.addEventListener('load’, function () {
5 alert('Hello!");
6 )
7
8 function dialog() {
9 var message,
10 if (confirm("Press a button!")) {
11 message = "You pressed OK!";
12 } else {
13 message = "You pressed Cancel!";
14 }
15 document.getElementByld("result").innerHTML = message;
16 }
17 | </script>
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class Employee:
all =]

def __init_ (self, idno, first_name, last_name):
self.id = idno
self.first_name = first_name
self.last_name = last_name
Employee.all.append(self)

def _repr__(self):
return f*(ID={self.id}, Name={self.first_name} {self.last_name})"
if _name_==" main__ "™
el = Employee('001', 'Peter’, 'Lee")
e2 = Employee('002', 'Ann’, 'Lo")
print(Employee.all)
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public abstract class Employee {
private string id;
private string name,
private int age;

public Employee() {

}
}

public class Staff : Employee {
public Staff(string _id, string _name, int _age) {
this.id = _id;
this.name = _name;
this.age = _age;



